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(f)
10

3
(g)

300

108
(h)

150

189
(i)

25

72
(j)

1250

1231

2

(a) 53% (b) 85% (c) 16
8

7
% (d) 3.425% (e) 6.25%

(f) 70% (g) 15
4

3
% (h) 0.0025% (i) 47.35% (j) 0.525%

3

(a) 0.97 (b) 0.735 (c) 0.03 (d) 2.07 (e) 0.8

(f) 1.75 (g) 0.0250 (h) 3.2575 (i) 0.152 (j) 3.0015

4

(a) 72% (b) 41% (c) 4% (d) 125% (e) 9%

(f) 410% (g) 350% (h) 102.5% (i) 0.025% (j) 10.25%

5

6 20 18

7 14400 900

8 47500 5000

9 PERCENTAGE E

10 40 10 15

13

8 4

90 25 =
100

25
 × 90 = 22.50

90 25 0.25 × 90 = 22.50



2

 214

120 60 0 60 × 120 72 00

80 120 1 20 × 80 96
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600 62 = 0.62 × 600 = 372 
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x
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x

x 60 690
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4 60 45
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8 4
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2 60 48
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P
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R R R = r % = 
100

r

x X

 I = P × R × T

8 29

P R T

(a)   8000 5% 2 yrs

(b)   20,000 15% 1
2

1
 yrs

(a) I = P. R. T.

  = 2
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5
8000  =  800

(b) I = 
2

3
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15
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8 30 500 6050

A =  6050, P = 5000,T = 3 yrs
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7
35000

1001050
r R = 7 %

8 31
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1
4 4875
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I = P × R × T
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A = P(1 + R)n = 
n

100

r
1P

= A – P = P (1 + R)n – P

= P[(1 + R)n –1]

1
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r
1P
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V
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2

(a) 36% (b) 410% (c) 2% (d) 0.35%

3

(a) 0.12% (b) 2.5% (c) 25.5% (d) 255%

4

(a) 23%  500 (b) 2.5%  800 (c) 0.4%  1000 (d) 115% 400

5 294 700

6 60 45

7 10 352

8 15 270

9 7 16 74

10

11 20 6 6

12 44 6

13 70 70 000

14 5 10

11704

15 12 000

15 000 15000 17 500

16 100 3 45

35 50

17 25

18 160 90 20 96

20 20

96
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19 5 6 4 3

20 18

20

23 75

21 10 10 10

25

22 80 64

23 1800 25 150

10

24 18750 25

25 5 12

1200

26
3

1

27 2250 3 4 2700 4

28 10 2 3 300

29 4 70304

30 10 2 50

31 20 6 26460

32 20 6 26460
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33 12 000 3 15972

34 20 15 10

25 000

35 20 000 10

10 2

1. (a) 48% (b) 45% (c) 41
3

2
% (d) 40% (e) 20%

(f) 30% (g) 36% (h) 126% (i) 288% (j) 98.48%

2. (a) 
100

53
(b)

20

17
(c)

160

27
(d)

4000

137
(e)

16

1

(f)
10

7
(g)

400

63
(h)

40000

1
(i)

2000

947
(j)

4000

21

3. (a) 97% (b) 73.5% (c) 3% (d) 207% (e) 80%

(f) 175% (g) 2.5% (h) 325.75% (i) 15.2% (j) 300.15%

4. (a) 0.72 (b) 0.41 (c) 0.04 (d) 1.25 (e) 0.09

(f) 4.1 (g) 3.5 (h) 1.025 (i) 0.00025 (j) 0.1025

5. 50% 6. 90% 7. 6.25% 8. 47.5% 9. 30%

10. 5%

8.2

1. (a) 200 (b) 564

2.  2625 3. 175, 100, 125, 100 4. 25%

5. 56.25% 6. 500 7. 36 

8. 6000 9.  40,  32 10. 4% 

11. B 12. 10.8%

13.  13200,  12000,  10000
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8.3

1. 33
3

1
% 2. 10% 3. 25% 4. 120

5.  2576 6. 21 7. 4% 8.  1108.80

9. 12% 10. 15% 

8.4

1.  318.75 2. 20% 3.  15390 4. 25%

5.  724.50 6. 10% 7.  2185 8. 10.4%

8.5

1.  16240 2.  3744 3.  5600 4. 11%

5. 4 6. 10% 7.  1100, 5% 8. 
7

5
9 %

9. 24 10. b

8.6

1.  1951 2.  1951 3. . 2522 4. . 24000

5.  630 6.  46875 7.  80000 8. 1
2

1

9. 20% 10.  1600, 5%

8.7

1. 316368 2.  300186 3.  291456

4. 4.2042 5. 3.2256×108 6. 49140

1. (a) 45% (b) 70% (c) 34% (d) 6%

2. (a) 0.36 (b) 4.10 (c) 0.02 (d) 0.0035

3. (a) 
2500

3
(b)

40

1
(c)

200

51
(d)

20

51

4. (a) 115 (b) 20 (c) 4 (d) 460

5. 42% 6.  25% 7. 320 8. 1800

9. 18 10. 25% 11. 70% 12. 50
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13. 1 14. Rs. 14000 15. 16. 50

17. 20% 18. 36 19. 60% 20. 25%

21.  400 22. 20% 23.  1650 24.  25000

25. Rs. 2000 26. 
3

1
3 % 27. 

2

1
2  years 28. Rs. 3000

29. Rs. 62500 30. Rs. 5000 31. Rs. 16000, 5% 32. Rs. 24000

33. 10% 34. Rs. 13500 35. 19800


